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SECTION A: MATHEMATICS
PART I (24 marks}

Answer ALL the questions in this pars,

i
1. Simplify Bl RA%S -+ «eXpressing the answer with positive indices. {3 marks)
. Express 47 seconds as a percentage of 5 minutes, {2 marks)
3 Express ]—: 85 4 decimal correct to 3 significant figures. (2 marks)
i A water tank is 2 m long 75 cm wide and 50 em high. Determine the:
(@) capacity of the tank in litres: {2 marks)
(b} wetted area when the tank is -y full. (2 marks)
=2 The Iength of a rectangular box with square ends 13 15 cm greater than the breadth. IF the total
length of the edges is 2.04 m, derermine the dimensions of the box. (4 marks)
6. Solve the simultaneous equations:
2r—y=4
& (4 marks)
D=5
A xric
F Make (i the subject of formular in the equafion b = ——"—, {2 marks)
3. Determine the area of the parallelogram shown in Figure 1 if all the dimensions are in
tillimetres, {3 marks)
[
F i
L 34 g
|
Fig. 1
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PART IT {14 marks)
Answer auy THQ queestions from this part

o {a)  Ahollow shaft 1.8 m Iong has an outside diameter of 4.9 ¢m and an inside diameter of
2.8 cm. Determine the cross sectional area of the shaft Nt g (3 marks)

-
-

(b} Asquare right pyramid has a base of sides5 cm and a vertical height of 12 e
Detenmine the:

(i} volume;
(1) total suiface ares, (5 marks)

0. (a}  The following setof data refers to the lengths of sticks. Determine the mean, median

and mode.
2790, 34.70, 3440, 1892, 47 60, 3068 (5 marks}
(b}  Trangie DEF hassides DE = 8, EF = 17 and DEF = 90", Determine sin EDF
{3 marks)
i, (a) Theroots of a quadeatic eguation are 8 and -2, Determine the cuation. {2 marks)

(b)  Without plotting a graph, determing the aradicnt and the y-axis intercept far the
eduation y—2 =4z +9_ i3 marks)

(<) Two aircrafts leave an airficld at the same time. One travels due north at an avera e
speed of 300 km'h and the other dupwest at an average speed of 220 km'hr, Calculate
their distance apart after 4 hours, (3 marks}

SECTION B: SCIENCE
PART I (24 marks)
Arswer ALL questions fram this part.

2. State the units of measurement for each of the following:

[a) Pressure:
(b} luminous intensity. {2 marks)
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13,

ia) Define friction.

by State fwo causes of fricion. {3 marks)
4. With the aid of a sketeh, outline the procedure of verifying that sound travels through air.
2 {4 marks)
3. Figure 2 shows the arrangement for lifting a mass of 60 kg through a distance of 4 m on a plane
mclined at 30", Determine the work donc. {2 marks)
T:dkl' £E= [ﬂ ITIIIS= u/-\
e \
e e
| ll 30°
-
Fig. 2
L6, IMustrate the existence of atmospheric prossure. (2 marks)
17, With the #id of 4 sketch, show that depth affects pressure i liquids. (F marks)
15, Chutline bwo:
(#}  uses of electrodysis; {2 marks)
(h)  Teatures of 4 dry cell. (2 marks)
19, Expiain expansion in solids usingthe particle theory. (2 marks}
20, Figure 3 shows the magnetic held between two magnets X and Y,
AN >
FE 40
= i e
Fig. 3
(4]  State the poles Pand ).
b} State which of the two magnets is stronger and give the reason for your answer,
{2 marks)
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PART IT {16 marks)
Answer any TWO guestions from this part.

21. (&) (i} With the aid of a sketch, show the bonding process in the formation of a sodium
chioride mofecuole,

(i) Sketch and label the parts of an atom. {4 marks)

{b)  Hlustrate the process of prepaning dry hydrogen in a laboratory. (4 marks)

22. (a) Name twao alloy metals and state two constituents and two nses of each in the
constmction industry. (3 marks)

(b}  Calcolate the work done by a mason in lifting a 5.5 kg stone throwgh a height of 2 m.

(3 marks)
(cl Siate the [aw of:
{1} reflection;
(i}  refraction. {2 markg)
23 (a) State two characteristics and one example of each of the following:
(L scalar guantity;
(11}  vector quantity. (3 marks)
() Distinguish diréct current frorcalternating current. {2 marks)
{c) Explain the circuit elements of 2 ring main for a domestic house. (3 marks)
001215 02027215 0305/215 5 Turn over
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SECTION C: GENERAL STUDIES
PART I {20 marks)
Answer BOTH questions in Part 1.

Read the passage below and answer the questions that follow,

The influx of second hand vehicles into the Kenyan market aims at satisfying transport demands
that the local motor vehicle industry is unable to mect. The imports cut across the transport
sector raging from personal to heavy commercial vehicles. This has led 1o the increase of deed
vehicle showrooms, with majority doing their own imponation.

While buying a vehicle online has been made easy, internet adverts can be very misleading on the
actual condition of the vehicle. However, before bu ying 4 second hand vehicle, there are various
tactors that one should consider. One such factor is the age of the vehicle. A ge determines the |
condition of the vehicle especially if it is not well maintained. The model of the vehicle should
aiso be considered. This is because some models are more expensive (o maintain than others,

In addition, one should consider the value of the vehicle, This is becanse the vilue determines
the amount of Excise Duty to be paid at the port of entry. Besides, one should consider the
engine capacity of the vehicle, A big engine determines fuel consumption of the vehicle and this
may make 1t difficall 1o maintain.

There are several reasons why people prefer sccond hand vehicles. One of them is that sccond
hand vehicles are relatively cheap,, Besides, they are of high quality as they are inspected befors
the shipping is-done. Hence, buying them enables many pecple to own vehicles withont much
financial strain,

{a) State the meaning of each of the following words as used in the passage:

(1) seoond hand;

{iiy  actual;

{ifi) prefer:

{iv) own. {4 marks)

(k) State, according to the passage, the factors that should be considered before importing a
second hand vehicle. {4 marks)
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State, according to the passage, why people prefer second hand vehicles.
State three reasons why a business person keeps records,

State three types of energy that do not pollute the environment;

State two causes of sea poflution.

Rewrite the following sentences correctly,

(i) who's hounse is this
(1) The manager has been to a meeting since 800 a.m. 10 10.00 am,

PART I1 20 marks)
Answer any FIVE auestions from this el iia

State two ways in which cooperatives contribute in nation building.
State two reasons why games should be cncouraged in society.
Name twe physical barriers to communication,
State two crimes associated with overpopulation.
State two reasons why water pollution should be comtrofled.
List two functions of the civil Service.
Qutline two methods of increasing sales in a business

State two examples of revenue EXPEnsEs 10 a business,

(2 marks)
3 marks)
(3 marks)

(2 marks)

2 marks)

{2 marks)
(2 marks)
{2 marks)
(2 marks)
{2 marks)
(2 marks}
(2 marks)

{2 marks)

List two factors that may be considered when choosing communication media.

State two reasons why same sex marnages are on the increase in Kenya.

List two state corporations that help in protecting the environment.

List two costs that are incurred in production of a product.
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(b
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State two functions of a county government.

State two details found in a cash sales receipt.

List two reasons why charcoal burning is discouraged.

State two roles of the National Aszsembly,
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